



Dr. Mohamed El-Shazly  
CALCULUS FOR ENGINEERS  
MATH 1110

## Tutorial No. 8 Solution

### Power Series

Find the Taylor series of the following problems:

1.  $f(x) = \ln x, \quad a = 1$

**Solution**

$$1. \quad f(x) = \ln x, f'(x) = \frac{1}{x}, f''(x) = -\frac{1}{x^2}, f'''(x) = \frac{2}{x^3}; f(1) = \ln 1 = 0, f'(1) = 1, f''(1) = -1, f'''(1) = 2 \Rightarrow P_0(x) = 0, \\ P_1(x) = (x-1), P_2(x) = (x-1) - \frac{1}{2}(x-1)^2, P_3(x) = (x-1) - \frac{1}{2}(x-1)^2 + \frac{1}{3}(x-1)^3$$

2.  $f(x) = \ln(1+x), \quad a = 0$

**Solution**

$$f(x) = \ln(1+x), f'(x) = \frac{1}{1+x} = (1+x)^{-1}, f''(x) = -(1+x)^{-2}, f'''(x) = 2(1+x)^{-3}; f(0) = \ln 1 = 0, \\ f'(0) = \frac{1}{1} = 1, f''(0) = -(1)^{-2} = -1, f'''(0) = 2(1)^{-3} = 2 \Rightarrow P_0(x) = 0, P_1(x) = x, P_2(x) = x - \frac{x^2}{2}, P_3(x) \\ = x - \frac{x^2}{2} + \frac{x^3}{3}$$

3.  $f(x) = 1/x, \quad a = 2$

**Solution**

$$f(x) = \frac{1}{x} = x^{-1}, f'(x) = -x^{-2}, f''(x) = 2x^{-3}, f'''(x) = -6x^{-4}; f(2) = \frac{1}{2}, f'(2) = -\frac{1}{4}, f''(2) = \frac{1}{4}, f'''(x) = -\frac{3}{8} \\ \Rightarrow P_0(x) = \frac{1}{2}, P_1(x) = \frac{1}{2} - \frac{1}{4}(x-2), P_2(x) = \frac{1}{2} - \frac{1}{4}(x-2) + \frac{1}{8}(x-2)^2, \\ P_3(x) = \frac{1}{2} - \frac{1}{4}(x-2) + \frac{1}{8}(x-2)^2 - \frac{1}{16}(x-2)^3$$

4.  $f(x) = 1/(x+2), \quad a = 0$

**Solution**

$$f(x) = (x+2)^{-1}, f'(x) = -(x+2)^{-2}, f''(x) = 2(x+2)^{-3}, f'''(x) = -6(x+2)^{-4}; f(0) = (2)^{-1} = \frac{1}{2}, f'(0) = -(2)^{-2} \\ = -\frac{1}{4}, f''(0) = 2(2)^{-3} = \frac{1}{4}, f'''(0) = -6(2)^{-4} = -\frac{3}{8} \Rightarrow P_0(x) = \frac{1}{2}, P_1(x) = \frac{1}{2} - \frac{x}{4}, P_2(x) = \frac{1}{2} - \frac{x}{4} + \frac{x^2}{8}, \\ P_3(x) = \frac{1}{2} - \frac{x}{4} + \frac{x^2}{8} - \frac{x^3}{16}$$

Find the Maclaurin series of the following problems:

5-

$$e^{-x}$$

**Solution:**

$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} \Rightarrow e^{-x} = \sum_{n=0}^{\infty} \frac{(-x)^n}{n!} = 1 - x + \frac{x^2}{2!} - \frac{x^3}{3!} + \frac{x^4}{4!} - \dots$$

6-

$$e^{x/2}$$

**Solution:**

$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} \Rightarrow e^{x/2} = \sum_{n=0}^{\infty} \frac{\left(\frac{x}{2}\right)^n}{n!} = 1 + \frac{x}{2} + \frac{x^2}{4 \cdot 2!} + \frac{x^3}{2^3 \cdot 3!} + \frac{x^4}{2^4 \cdot 4!} + \dots$$

7-

$$\frac{1}{1+x}$$

**Solution**

$$\begin{aligned} f(x) &= (1+x)^{-1} \Rightarrow f'(x) = -(1+x)^{-2}, f''(x) = 2(1+x)^{-3}, f'''(x) = -3!(1+x)^{-4} \Rightarrow \dots f^{(k)}(x) \\ &= (-1)^k k! (1+x)^{-k-1}; f(0) = 1, f'(0) = -1, f''(0) = 2, f'''(0) = -3!, \dots, f^{(k)}(0) = (-1)^k k! \\ \Rightarrow \frac{1}{1+x} &= 1 - x + x^2 - x^3 + \dots = \sum_{n=0}^{\infty} (-x)^n = \sum_{n=0}^{\infty} (-1)^n x^n \end{aligned}$$

8-

$$\frac{1}{1-x}$$

**Solution**

$$\begin{aligned} f(x) &= (1-x)^{-1} \Rightarrow f'(x) = (1-x)^{-2}, f''(x) = 2(1-x)^{-3}, f'''(x) = 3!(1-x)^{-4} \Rightarrow \dots f^{(k)}(x) \\ &= k!(1-x)^{-k-1}; f(0) = 1, f'(0) = 1, f''(0) = 2, f'''(0) = 3!, \dots, f^{(k)}(0) = k! \\ \Rightarrow \frac{1}{1-x} &= 1 + x + x^2 + x^3 + \dots = \sum_{n=0}^{\infty} x^n \end{aligned}$$

9-

$$\sin 3x$$

**Solution:**

$$\sin x = \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+1}}{(2n+1)!} \Rightarrow \sin 3x = \sum_{n=0}^{\infty} \frac{(-1)^n (3x)^{2n+1}}{(2n+1)!} = \sum_{n=0}^{\infty} \frac{(-1)^n 3^{2n+1} x^{2n+1}}{(2n+1)!} = 3x - \frac{3^3 x^3}{3!} + \frac{3^5 x^5}{5!} - \dots$$

10-

$$\sin \frac{x}{2}$$

**Solution:**

$$\sin x = \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+1}}{(2n+1)!} \Rightarrow \sin \frac{x}{2} = \sum_{n=0}^{\infty} \frac{(-1)^n \left(\frac{x}{2}\right)^{2n+1}}{(2n+1)!} = \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+1}}{2^{2n+1} (2n+1)!} = \frac{x}{2} - \frac{x^3}{2^3 \cdot 3!} + \frac{x^5}{2^5 \cdot 5!} + \dots$$